108 ?ﬁ B Mg

4

T x L .
o
5 & &3 5 P 2 R 3+
108 | ks #s ks © | 4,646,700 | 4 #F 5 | g ks 3, 888, 078%80% 3,110,462 | 1. % 108 B & Rzl E @ * £3F (-2 1)
(1) * - ik L RN 2.2 EBS0 W B4 136k ko R S 14
(2) H T B85 57 5 EHEE | hEF iR o B4 g A ER 0% (ANY T 1082 8
AR 7 L35 k& PEASRE Y > KR FRED ¥ o U E B R o)
(3) ®7 & P5A ES 3.3 & FBEe I >3 B i Hc o
P @ EBOFE- 2 2-3)
2% (1081 ~1082) -110, 200 AR AR R R FFTY | FF 1,291, 890 1. &g s E.ﬁ;,frjt_» FARREL DAL o (-
2GR | 1,552, 820%80% 2 4)
(R8T AR | &% 62, 034%80% 2.2EM w50 o F4 k36 @ kR R L 14
Voo B A r R Gk 80% o
el (BHHEFYEOERLEG (2 ER)
*80% -
437 E % eI » 3Bk
5.i9% (it - 2 2+ 3)
FIRCR PN 229,500 | &R %% |l zaFE 10, 354, 031%0. 039 403, 807 | it 08 8 & RAE &9 (fit- 2 5) -
7 2. A rRwEL A e A
® ¥ 3. P G fE 683.4 5T 5 BT 45 17520 2T » i 3. 9%+
3.§%%?%% '
1 R AL Lihiede i » 2 Bk
5. THEE 0. H T e (-2 6)
6. i ok AR
i A
7 Eok e
8. EiFima
9. LT ER
NP S
‘ﬁ‘?‘
k# PR MY A% 504, 222 iz 108 B & R4 7 ARy -2 k) ks £97 -
28649% & 4 i (Wtit— 2 5)
2.2 R¥E R 20 = 2. % 108 5 & & /AR * 28649 4 o (sp- 2 T)
*40% 3LRRER S0 H A P36 RETL 14

iR 108 F #

LB &

G B pEE Ok 80% - (BT 1082 8 ik ik
PR o EHA AT RS 18 0 A
PR ik 40%)

MYk P s aeyEr SRk
20 & (Hit- 2 5) -

G RCK R AR Y R 62728 B




6. 31 * B ¥ 62728/, 0 * £ & 28649=2.2 B (& A @
R ) o
T3 E2%e T 3Bk
T AATF 209, 290%12 * 2,511,480 [1.i2 108 ¥ & R~ 44 AT 7 447,200%12 & *
=5, 366, 400% % & ## 3. 9%7209 290
2.3 8% % e 8T » 1 Bk
1. R 8760 -] p& (g p* 1,070, 034 Lieps TR ¥ 22250 Toane T f308 - [ (L7 87 %3.53)
9. =2 B) K35 R T /R F(Ag 4 3.42) 1 /12 B0 =3.49 B/~
3 # 4 X3.49 B/~ 22875267 1p 3297 30p » 2% " AU EER o
- A S ERIFTF V- E MR EERLE
1,070,034 4, 7574 B pERR T 35 RT o
5. 8T 2 B ik 24 /) pEE > 24 /] pFX365 < =8760 -] p¥ -
6. RPN ~ 23 ~ 4 PSR G ff 683,42 > 8T 4 17520 T
% 3.9%:+ &
T3+ 285w 7 »3 Bk
TEMHE | kTEH 1,492, 000%0. 039 58, 188 185k 108 8 &2 B8 &3 ('i2-25) o
® 2.9+ { %% -9~ gpa®wi -
3. FAS B EER o
4. % 2H 1 T BRTH -
5. MAMEL - K F - 1@;:* %
6. A% & i 683.4 % TAE1T520 % 5 & 3. 9% E o
T35 %%k b7 )‘_J.@I“gi"
LR o 1, 240, 690%83. 91% 1, 041, 063 1.4ﬁF§€E50$ 4336 -
2.§ ERa- A SR A
] PEXD =G5 PF (- 2R T )
4'J‘F’5*2%:8'J‘F’5 (B~ %op)
65 -] p¥+8 /| %36 % =2628 /| pF
3. BB PR 4T
(6] ¥4 p ) + (4 /] PF*3 p ) X14 % =504 -] p*
4. 2628 | pE+504 - pF=3132 ] p*
b.EAR* 2 it i 5 83.91%-
6. % e vt b5 16.09%
Tk 108 Ees § &5 8% £ (iE- 2 8)
8.3 ERS e T »1 Bk
9. AN R 1082 EHppgiiklyieik ® » b F £ * v
FrOPFREYEE UFF R AR > o
> 4, 766, 000 9,991, 146

&1 w

Yo
T

-0, 225, 146




